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Attempt alt questiéns. Draw diagrams wherever possible. .
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. Answer any three of the folfowing : - . 3x3

(a) “Supply side crowding out does not depend
upon a vertical LM curve.” Why. 2 How
does supply side. crowdmg out change the
composition of output 7"

6325 1 P.T.0.



6325

-(b)

(©)

(@

(%)

@)

In a closed economy :IS-LMzframework, a -
given change in money supply has a larger
effect on output the less income sensitive
the demand for money. True or False ?
Why ? How does the response of

- equiltbrium interest rate to a change in

money supply depend on the income
sensitivity of money demand ? Explain. .
“In the classical system an increasé in govt.

-spending,. whether bond financed or debt
financed has.no effect. on output.” Explain

with the help of a diagram.

Consider’ "a “simple” open ' economy
represented by the following equations :
CLa¥bYd fETHeY)"

G=Giw.' T=TH+tY;

X=X; M=M+mY.

Calculate the impact on the budget surplus
of a unit change in the tax rate. ¥ ™’
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C=a+bYd;i1=T+eY:
G=G;  T=T+ty;

X=X;+ yM=M+mY.
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2. (a) :Starting ‘with- aybalanced budget, govt.
-reduces its. taxes by <-1,.during period 1.
‘Assuming that in period 2. the_ primary
deficit is zero ?a'.hd'ifE govt. fully'repays its
debt in period 3, then derive the amount of
primary - surplus govt. -must runs during
period 3. . o L

(b) Examine the effect of a permanent increase
+in money growth on real irterest rate,
nominal.interest rate and inflation rate, both
in the short’runand mediumtun’ In this
context state . and- .explain_ :the Fischer
. .. hypothesis. - m - oo, o 4
{c)” Let "an economy be described by the
* following thec equations ' -
U -U,_; =-04(g,, - 3%) OKiins Law
LA = ~(U, - 5%) Phillips Curve
8y = B — T, Aggregate demand.
(i)  Define natural rate of unemployment
and compute-its value for the above
ssystem.. , - . .
(i) Assume. that the economy is at its
' natural rate of unemployment in time
. periodstandt— 1. Now suppose that in
period 1, inflation rate is equal to 8%.
What are the growth rates of output and
money supply in period t ?
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(iii) Define normal growth rate of output
and find its value for the above
- system, 1+ 2+1
() RS S /ST o §U TR SHienaty 1
AARAFTH T | FHH A Y | 78 7 g¢
f wrenafy 2 & wafiv o e € ol Al
HIeEy 3§ FYN B G TE g et , qw
FrAEY 3 % A TWER F Mo afde it
‘ T = iR |
(=) mmmﬁﬁmm«
. mmmar@ﬁrvﬁﬁrﬂwqmaq?*ﬁ-
I TR F T H W T | 5w
m\iﬁmmmaﬂhaﬁtm
HIAT 1 J :
-tmﬁiﬁﬂqﬂiwmﬁmﬁaﬁaﬁﬁh
. i g Al €
. U,-U,._ ,——04(gyt 3%)aﬁm1‘=mn
Lm-m_, =—U, - 5%) fefre 7
By = By~ n(mrm
() %ﬂwnﬂaﬁ!ammﬂaﬁﬁﬁmﬁﬁ
- Fife et wnaﬁﬂ:f%rqm

m srfvriert
(i) mqﬁh\%mﬁ;mﬁfinaﬂrtnlﬁ
oy SR @ S @ nifas T

W wg A g e ety oo
THIftT T 8% & T § | Frowad t
C . SRA- SR e gfT W defg TR E o
Gii) IR T e gy W ) .
. ot SwE w9
s
: OR/3gar
(a) Distinguish between nominal interest rate ..
and Real interest rate. Derive an equation -
..« explaining the relationship between the two. 2
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(b) Suppose that the Phillips €urve is given by

(c)-

m, = n -(U, - 5%) and expected inflation is

glven by n -

- () What is the- sacnﬁce ratio in this

economy ?

(ii) Now assume that unemployment
-+ initially {in périod (t - 1)] is equal to
the natural rate and inflation rate is
12%. From year ‘t’, the central bank
decides” to maintain the -
unemployment rate one percentage
point above the natural rate each year-
until the inflation rate has decreased
10 2%: Compute the. rate of inflation
for yearst,t+1andt+2. -

- (iti) Suppose expected inflation - now is

~given by _
m=R 2%+ (1-1)m_,
Where A is the weight people put on
the central banks target of 2%.

Calculate the sacﬁﬁce ratio. Why is it_
different from the answer in (i) 71 +3+2

,How does Taylor refute the possibility of .
painless disinflation?- -2
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“An increase in the rate of,savings has no
impact on the fong run rate of growth in the
basic solow model without technological
progress, while it causes an increase in the

rate of growth in the AK model.” Elaborate

by -distinguishing :between the basic
assumptions underlying the two models.
In the neoclasswal theory ,of investment
explain how réntal cost of capital affects the
desired capital stock. How do depreciation,
inflation rate and taxes enter the calculation
of rental cost of capital ? Examine the effects
of desired capital stock.
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(a) Define Golden Rule Level of capital. Draw a
diagram-and derive the criterion for Golden
Rule-Level of capital :when the economy has
population.. growth and:, technologicai
progress. Explain the need for saving rates to
change for achieving the golden rule level of
capital, : ' .

(b) “Permanent income -hypothesis implies that
there is a.difference between the short run
marginal propensity to consume-and long run
marginal propensity to consume.” LExplain

with the help of a diagram. . - =,
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4. (@) “Devaluation works in a fixed exchange
rate, ~flexible price . regime  through
expenditure  switching,” » Explain.  Under
what circumstances devaluation would not

succeed in resolving the balance of trade
problem ? 5
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(b)

How does a deficit or a surplus in the
nations balance of payments arise according
1o the Monetary dpproach ? Why do nations
lose control over their money supply in the-

" long run under fixed exchange rates ?
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How does .the monetary approach explain ,
the process by which a balance of payments
disequilibrium is corrected under a flexible
exchange rate system ? How does this differ
from the case of fixed exchange rates 7

Assume that there is perfect mobility of
capital. How does the imposition of a tariff
affect the exchange rate, output and the
current account ?
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